
SAMPLE QUESTION PAPER

The NMIMS-LAT 2022 would be an objective type
multiple-choice test.

The NMIMS-LAT Exam will comprise of 5 major sections
as follows:

●
● English Language (30 marks),
● Current Affairs Including GK (30 marks),
● Quantitative Techniques (30 marks),
● Logical Reasoning (30 marks) and
● Legal Reasoning (30 marks)NMIMS-LAT

1) FIND THE SYNONYM OF ‘EMBEZZLE’

A) MANIPULATE
B) MALFUNCTION
C) MISFEASANCE
D) MISAPPROPRIATE

2) THE BLOOD-STAINED CLOTHES WERE A
WITNESS ____ HIS ASSASSINATION.

A) OF
B) AT
C) ON
D) TO

CURRENT AFFAIRS INCLUDING GK

1) WHO IS KNOWN AS ‘THE LADY WITH A
LAMP’

A) VIJAYLAXMI PANDIT
B) SAROJINI NAIDU
C) FLORENCE NIGHTINGALE
D) ANNIE BEASANT

2) WORLD ENVIRONMENT DAY IS CELEBRATED
EVERY YEAR ON:
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A) 8TH MARCH
B) 5TH JUNE
C) 21ST JUNE
D) 11TH SEPTEMBER

NUMERICAL ABILITY

1) THE AVERAGE OF 9 CONSECUTIVE NUMBERS
IS 30. THE LARGEST OF THESE NUMBERS
WOULD BE:

A) 30
B) 32
C) 33
D) 34

2) FIND THE MISSING NUMBER IN THE SERIES:
54,49, _, 39, 34?

A) 40
B) 44
C) 45
D) 46

LOGICAL REASONING

1) IN A CERTAIN CODE ROUNDS IS WRITTEN
AS RONUDS. HOW WILL PLEASE BE
WRITTEN?

A) LPAESE
B) PLAESE
C) LPAEES
D) PLASEE

2) FISH: SCHOOL
A) WOLF: PACK
B) GOAT: FARM
C) HERD: SPARROW
D) LION: JUNGLE

LEGAL REASONING

1) PRINCIPLE: FRAUD IS INTENTIONAL WHEREAS MISREPRESENTATION IS INNOCENT.
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FACTS: A COMPANY PUT UP A CLAIM IN THEIR PROSPECTUS FOR THE ISSUE OF
SHARES THAT THEY HAD PERMISSION TO RUN TRAMWAYS USING STEAM POWER.
JUST BEFORE MAKING THE ADVERTISEMENT, THEY HAD APPLIED FOR PERMISSION
FROM THE BOARD OF TRADE FOR RUNNING TRAMWAYS USING STEAM POWER AND
WERE OF THE OPINION THAT THEY WOULD SOON GET PERMISSION FOR THE SAME
OF THE ABOVE.

A) THE COMPANY HAS COMMITTED FRAUD
B) THE COMPANY HAS COMMITTED
MISREPRESENTATION
C) THE COMPANY HAS NEITHER COMMITTED
FRAUD NOR MISREPRESENTATION
D) NONE OF THE ABOVE.

2) PRINCIPLE: IN CRIMINAL LAW, A CHILD BELOW 7

YEARS WOULD NOT BE LIABLE FOR AN OFFENCE.
FACTS: VINAYAK GIVES A GUN TO A CHILD BELOW 7
YEARS TO KILL HIS ENEMY BASANT AND
ACCORDINGLY, THE CHILD KILLS BASANT.

A) THE CHILD WOULD BE GUILTY
B) VINAYAK WOULD BE GUILTY
C) NEITHER THE CHILD NOR VINAYAK WOULD
BE LIABLE
D) BOTH CHILD AND VINAYAK WOULD BE
LIABLE
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